08¢

«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £
opklph 7-pn. hnnJwény pneobunwhlb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 01
fudph 01 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

{wybywé N 5 - | Grwdujwy
Unjntuwy N 08-01-01

Unyntuwly 08-01-01

wyn pYnLd puwn dpuwantinh

<L wrwolnipynblbpht L
Uhowaqquwihbt dhongwrenidbephl
Gwulwygnipwb wwywhnydwb

hwdwn dwpghybtph
Owuwwwuwnpwuwnned b
wrwolnipyntbbtph whgywgnid

Cwudwuwnhuwinlbiph
wwwnpwundwb
SwrwjnLpnLbGbtn

«Lwywagn)G
Jwnqwywb phuinwbhp»
upgnyph wbgywgnid

Lwidwlnwiwihb
uwynpunhb wrbsynn
swrwjnLpnLGbtn

wyn pynLd

QlnwukOp
nwuh wjn pYntd puwn wyn pYntd pun wyn pYntd pun wyn pYntd puwnn
<nnywéh wajwbniip gniiwpp — Ywuwnwnnnbbph — Ywuwnwnnnltph — | Ywuwwnpnnbtph — Ywuwnwnnnbbph
anwdbennd) |- 3 L3 % 2 P Sl S22 | 2| 5% ¢
T £ o & < & <
= £Eef 2 £ 2 2| gz=2 | = | ez=8
3 cc5c = 33 3 b5 = L5 c
b= €323 b= = S =] €323 b= €323
3 33 3 3 33 3 35 35 3 35 3¢c
& G222 £ =2 | 5| g2¢2 | 5| g222
a V2 5§ a EX a V2 5§ a V2 5§
5 v §F S £ 5
1 3 5 7 9
LLAUUGLL DUUGN 358,623.8 238,848.7 238,848.7| 16,250.0 16,250.0| 500.0 500.0| 2,000.0 2,000.0
wyn pyntd
QUuBUShY DUuUGN 358,623.8 238,848.7 238,848.7| 16,250.0 16,250.0| 500.0 500.0| 2,000.0 2,000.0
wyn pyntd
untRURAhULEGN 19,847.6 0.0 0.0| 16,250.0 16,250.0 0.0 0.0 0.0 0.0
wyn pyntd
Untpuhnhwlbp wtwnwywb YuwgdwybpwnipyntbOtph 19,847.6 0.0 0.0 16,250.0 16,250.0 0.0 0.0 0.0 0.0
wyn pyntd
- Untpuhnhwltn ng $hlwbuwywb wbnwywh 19,847.6 0.0 0.0| 16,250.0 16,250.0 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
anuuucunNLueP 35,478.9 0.0 0.0 0.0 0.0| 500.0 500.0 0.0 0.0
wyn pyntd
wdwzbnphbbn dhowaqaquiht Yugiwytpwneeintbbsnph 2,662.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- COpwghy npwdwbnphbbp dhowaqquihl 2,662.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ywqgiwytnwnigntbbtphb
LOpwghy npwdwzb0nphbbn wewnwywb hwunywdéh wy 32,816.4 0.0 0.0 0.0 0.0| 500.0 500.0 0.0 0.0
Jwywnpnwybephb
wyn pyntd
- LOpwghy npwiwtnphObp wEwnwywb L hwdwbpwihb ng 28,500.0 0.0 0.0 0.0 0.0| 500.0 500.0 0.0 0.0
wrbnpwiht Yuwgdwybpwnieyntbbtpho
- LOpwghy npwdwbnphlbbn wewnwywb L hwdwtpwih 4,316.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wrbinpwihb Yuwgiwytnpwnegntbbephb
unshuluy4yuyLu LMUUSLEN B4 YEuuurNoUYWLEN 37,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




8¢

Unyntuwly 08-01-01

1 2 3 6 7 8 9
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 37,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Owwuwnbbn (pneetihg)
wjn pyntd
- Uppwyw(, dwynipwihb L uwynpunwihb Gwwuwnlbn pntethg 37,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
u3L ouwugP 265,797.3 238,848.7 238,848.7 0.0 0.0 0.0 0.0 2,000.0 2,000.0
wjn pynd
Ldhpwunynipgntbbbn ng urwywnswywb (hwuwpuwywywl) 265,797.3 238,848.7 238,848.7 0.0 0.0 0.0 0.0 2,000.0 2,000.0
Ywagiwytnwnigntbbtphb
wjn pyntd
- LyhpwwuinynipyntbOtn wy whnyp shGunwwbnnn 265,797.3 238,848.7 238,848.7 0.0 0.0 0.0 0.0 2,000.0 2,000.0

Ywagiwytnpwnigntbbtphb




28¢

«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £

opklph 7-pn. hnnJwény pneobunwhlb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 01

fudph 01 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

Unyntuwly 08-01-01

wyn pYnLd puwn dpwagntiph
Gypnwuwyh
Qwywpwlw phatinh Gphunwuwpnnigwb
Uwnpuwihl wywg dwnghsbbnh Gypwiunphpnh uwnpuh
Uuhongwrniilbph Jwpdwuwnpnignt L Gwuhb hwdwdwbwagnphb olhdwpuwywa
Yuadwybnwnid watuwnhh skowhnGGERRG wlnwdwlgnis {pwpwnnGOGRNG
pnowlh hwnlwgnid Gwubwygnipywb
wwwhnyntd
wjn pYntd pun wyn pYntd puwn wyn pYntd puwnn wjn pYntd pun
<nnywéh wajwbniip — Ywuwnwnnnltph — Ywuwnnnbtph — Ywuwnwnnnbbph — Ywuwnwnnnltph
& = & = & S & =
el s2 2| 2|22 2| 22| 2| -3 2
E £Esz2 = EEez2 o £Eez = £Esz2
D cclb o ] cclb o D ccb o ] cclb o
= €323 b=} €323 b=} €323 b=} €323
3 33§5¢&% 3 335¢ 3 355¢ 3 3535¢%
s 5323 g 5323 s 5323 g 5323
a | ¥575 | @ | v5Tg | @ | ¥v5T5 | & | ¥:iT3
=, S = S = =] =, =]
i} 5 5 i}
10 11 12 13 14 15 16 17
LLAUUGLL DUUGN 31,597.6 31,597.6| 4,316.4 4,316.4| 2,662.5 2,662.5( 24,948.6 24,948.6
wyn pyntd
QUuBUShY DUuUGN 31,597.6 31,597.6| 4,316.4 4,316.4| 2,662.5 2,662.5( 24,948.6 24,948.6
wyn pyntd
untRURAhULEGN 3,597.6 3,597.6 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Untpuhnhwlbp wtwnwywb YuwgdwybpwnipyntbOtph 3,5697.6 3,5697.6 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- Untpuhnhwltn ng $hlwbuwywb wbnwywh 3,597.6 3,597.6 0.0 0.0 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
anuuucunNLueP 28,000.0 28,000.0| 4,316.4 4,316.4| 2,662.5 2,662.5 0.0 0.0
wyn pyntd
wdwzbnphbbn dhowaqaquiht Yugiwytpwneeintbbsnph 0.0 0.0 0.0 0.0| 2,662.5 2,662.5 0.0 0.0
wyn pyntd
- COpwghy npwdwbnphbbp dhowaqquihl 0.0 0.0 0.0 0.0 2,662.5 2,662.5 0.0 0.0
Ywqgiwytnwnigntbbtphb
LOpwghy npwdwzb0nphbbn wewnwywb hwunywdéh wy 28,000.0 28,000.0| 4,316.4 4,316.4 0.0 0.0 0.0 0.0
Jwywnpnwybephb
wyn pyntd
- LOpwghy npwiwtnphObp wEwnwywb L hwdwbpwihb ng 28,000.0 28,000.0 0.0 0.0 0.0 0.0 0.0 0.0
wrbnpwiht Yuwgdwybpwnieyntbbtpho
- LOpwghy npwdwbnphlbbn wewnwywb L hwdwtpwih 0.0 0.0 4,316.4 4,316.4 0.0 0.0 0.0 0.0
wrbinpwihb Yuwgiwytnpwnegntbbephb
unshuluy4yuyLu LMUUSLEN B4 YEuuurNoUYWLEN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pynLd




€8¢

Unyntuwly 08-01-01

10 11 12 13 14 15 16 17
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Owwuwnbbn (pneetihg)
wjn pyntd
- Uppwyw(, dwynipwihb L uwynpunwihb Gwwuwnlbn pntethg 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
u3L ouwugP 0.0 0.0 0.0 0.0 0.0 0.0| 24,948.6 24,948.6
wjn pynd
Ldhpwunynipgntbbbn ng urwywnswywb (hwuwpuwywywl) 0.0 0.0 0.0 0.0 0.0 0.0 24,948.6 24,948.6
Ywagiwytnwnigntbbtphb
wjn pyntd
- LyhpwwuinynipyntbOtn wy whnyp shGunwwbnnn 0.0 0.0 0.0 0.0 0.0 0.0 24,948.6 24,948.6
Ywagiwytnpwnigntbbtphb
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«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £

opklph 7-pn. hnnJwény pneobunwhlb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 01
fudph 01 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

wjn pYntd pun dpwgntinh

Ohtwhwywb fuwntpnid, wpfuwphh b
GUpnwwih wrwlnipintGbbpnLd pwpdén
wnryntbpbtph hwuwé << hwywpwywb
phutph dwnghytphh L Gpwbg
dwnghs06pht <€ Lwfuwaquwhh
wOdwlwywb pnawyh hwwnywgntd

wjn pYntd puwn

wyn pynLd

<nnywéh waywbnidp — Jwuwnwnpnnbbph
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3 333¢%

£ G223
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18 19
LLAUUGLL DUUGN 37,500.0 37,500.0
wyn pyntd
QUuBUShY DUuUGN 37,500.0 37,500.0
wyn pyntd
untRURAhULEGN 0.0 0.0
wyn pyntd
Untpuhnhwlbp wtwnwywb YuwgdwybpwnipyntbOtph 0.0 0.0
wyn pyntd
- Untpuhnhwbtp ng phbwbuwywb wbnmwywh 0.0 0.0
YuaquwytpwnipntGbepha
anuuucunNLueP 0.0 0.0
wyn pyntd
Apwiwp0nphbtp dshowgauiht Yugiwyspwnepntbubph 0.0 0.0
wyn pyntd
- COpwghy npwdwbnphbbp dthowaqquihl 0.0 0.0
Ywqgiwytnwnigntbbtphb
LOpwghy npwiw0nphOtp wenwywb hwnywdh wy 0.0 0.0
Jwywnpnwybephb
wyn pyntd
- LOpwghy npwiwtnphObp wEwnwywb L hwdwbpwihb ng 0.0 0.0
wrbnpwiht Yuwgdwybpwnieyntbbtpho
- LOpwghy npwdwbnphlbbn wewnwywb L hwdwtpwih 0.0 0.0
wrbinpwihb Yuwgiwytnpwnegntbbephb
unshuluy4yuyLu LMUUSLEN B4 YEuuurNoUYWLEN 37,500.0 37,500.0

Unyntuwly 08-01-01



G8¢

18 19
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 37,500.0 37,500.0
Owwuwnbbn (pneetihg)
wjn pyntd
- Uppww(, d2wynipwihb L uwnpunwiht GwwuwnObn pnietihg 37,500.0 37,500.0
u3L ouwugP 0.0 0.0
wjn pynd
Ldhpwunynipgntbbbn ng urwywnswywb (hwuwpuwywywl) 0.0 0.0
Ywagiwytnwnigntbbtphb
wjn pyntd
- LyhpwwuinynipyntbOtn wy whnyp shGunwwbnnn 0.0 0.0

Ywagiwytnpwnigntbbtphb

Unyntuwly 08-01-01
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«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £
opklph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02

fudph 01 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun

Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

{wybywé N 5 - | Grwdujwy
Unjniuwy N 08-02-01

Unyntuwy 08-02-01

wyn pYntd puwn dpwigntinh

Zpwiinwipwynipniaabph
Uzawlnipwinl gnwOgiwl, hwaqwrdwl L
opjyunltnh Qpuwnwpwlwhb swrwjnipinttbbn
hhdGwbnpngnd dwinblwghunwlyw(
SwrwjnLpnLGltn
ClnwakOp wjn pyntl pun wjn pyntl pun wjn pYNL pun
nwuh — Jwuwwpnnltph — Jwuwwpnnbtph — Jwuwwpnnbbph
<nnwéh wodwhnidp gndwpp c c c
(hwquip g S s g S s S S 2 g S
3= 3 3 = = = S = S 3 o
npwdttpnd) | £ &% s 5| 3% Te |sao 255 5 5
g S g g £Ec| Z2¢ g 33235 < g
3 2 c 3 3 S ==A > c Cec ] 3 S c
=1 y§3 =1 J 33 53 3 3 EE3CES E=) 3 3
3 3 c 3 3& == SE S5 tc53 3 SE
S S g_ S = .3 = g_ N g_ i g_ G 5 NA .3
° T . ES| v3 | Y5 [V 28| “© ¥ 3
o1} 3 3
1 3 4 5 6 7 8 9 10
LLAUUGLL DUUGN 223,795.7( 6,631.3 6,631.3| 203,052.6( 7,520.0 29,520.3( 146,874.7 19,137.6 14,111.8 14,111.8
wyn pyntd
LUuBUSHhY DUUGN 217,164.4 0.0 0.0| 203,052.6( 7,520.0( 29,520.3| 146,874.7 19,137.6 14,111.8 14,111.8
wyn pyntd
untRUhLAhULEGN 217,164.4 0.0 0.0| 203,052.6( 7,520.0( 29,520.3| 146,874.7 19,137.6 14,111.8 14,111.8
wyn pyntd
Untpuhnhwbn wewnwywb Yuqiwybnpwneentabepho 217,164.4 0.0 0.0| 203,052.6( 7,520.0( 29,520.3| 146,874.7 19,137.6 14,111.8 14,111.8
wjn pyntd
- Untpuhnhwotn ng $howbuwywb wbnwywh 217,164.4 0.0 0.0| 203,052.6( 7,520.0( 29,520.3| 146,874.7 19,137.6 14,111.8 14,111.8
Ywagiwytnwnigntbbtphb
N2 hvuvuulvuL U4sShyuNrh aonNYy oukuutN 6,631.3| 6,631.3 6,631.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
<pUtuuuu uhansueN 6,631.3| 6,631.3 6,631.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
CEueGN G CchuNnt@B3NtLLEN 6,631.3| 6,631.3 6,631.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
- GGlpknh L 2hGnLpnLbGEph Yuwhwnwy yepwbnpngnid 6,631.3| 6,631.3 6,631.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £
opklph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 02 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

{wybywé N 5 - | Grwdujwy
Unjntuwy N 08-02-02

Unyntuwy 08-02-02

wyn pyntd puwn dpwigntinh

fBwlgwpwlwht swewnipyntbbtn L gnigwhwlntulbp

wjn pYntd pun

LOnwukOp - Jwuwwpnnbtph
nwuh § = =] S
<nnywéh waqwbnidp gniiwpp 3 33 S %g ‘g S g o s S S = oS
(hwquin 5 Es| €= g8 ol s | s2|s2| 2| <2 | s2| €2
nnwuiGtpny) g S c Ec S E Sc £S5 33 g 3 c 3 3 3 < 3 S 3
e v35 25 35 s 35 £ S 25 g5 5 =5 o5
=1 Y 33 3 3 3 Y '§3 23 3B 5B £5B c B £ 5 €5
3 == = S S 3 & c 3 £3 S| vz | o3| 53 33
= 5 3 = 3 &3 a3 D o J gz gz J T VE=; z 5 T
S 2 NS 32 335 3 c gc c Nl v e g
d 35 v 5 33 = = Y 3 3 3 3 3| Y3
33 2 3 33 3 =] tl/ =] =] =] = =
2 ¥ = &
1 2 3 4 5 6 7 8 9 10 11 12 13
pLAUUGLL DUUGN 312,900.3| 312,900.3| 5,449.0| 237,434.8| 20,951.6( 7,273.2| 24,342.5| 2,471.7| 2,566.6( 1,669.4| 7,357.8| 1,716.4| 1,667.3
wyn pyntd
LULBUSHhY DUUGN 312,900.3( 312,900.3| 5,449.0| 237,434.8( 20,951.6| 7,273.2| 24,342.5| 2,471.7| 2,566.6( 1,669.4( 7,357.8| 1,716.4| 1,667.3
wjn pyntd
untRUhLAhULEGN 312,900.3| 312,900.3| 5,449.0| 237,434.8| 20,951.6( 7,273.2| 24,342.5| 2,471.7| 2,566.6( 1,669.4| 7,357.8| 1,716.4| 1,667.3
wjn pyntd
Untpuhnhwbn wewnwywb Yuqiwybnpwneentabepho 312,081.3( 312,081.3| 5,449.0| 236,615.8 20,951.6| 7,273.2| 24,342.5| 2,471.7| 2,566.6( 1,669.4( 7,357.8| 1,716.4| 1,667.3
wjn pynd
- Untpuhnhwltn ng $hOwbuwywl wybnwywh 312,081.3| 312,081.3| 5,449.0| 236,615.8| 20,951.6( 7,273.2| 24,342.5| 2,471.7| 2,566.6( 1,669.4| 7,357.8| 1,716.4| 1,667.3
Ywagiwytnwnigntbbtphb
UntpuhnhwObn ng wewnwlwb YugdwytpwnipintGbtnhb 819.0 819.0 0.0 819.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
- Unipuhnhwbp ng wewnwywl ng $hbwbuwywb 819.0 819.0 0.0 819.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtphb
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«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £

opklph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02

fudph 03 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

Unjntuwy N 08-02-03

{wybywé N 5 - | Grwdujwy

Unyntuwy 08-02-03

wjn} pYntd pun Spwgptph
Uwynipwihb oplyunbtph | <wiwtpwihb dawyniph b wgqwwn dwdwlgh
hhdOGwOnpngntd Jwgiwytpwned Luwiuwgéwihl uizfuwnwipltn
L Onwakh
rr.:lbuuuh L wjn pYntd puwn wjn pYntd puwn wyn pYntd pun
Znnywéh woywanidp gnLawnp = Jwuwwpnnlbph z Jwuwnwnpnnltph = Jwuwnwnpnnlbph
(hwquin § = 5 § - § a -
npwabkpny) 32 = =] S ] 32 S o) S
5 =5 5§ | 5| g2| g2| EE2| S5 =S| E2 | S22 | 2
g Se k= cc 33 < 3 S 3 g Sc = 3 c 3 c 3
B vsS 5 25 S 25 o5 B ves 35 a5 es
b=} g 83 =1 3 3 25 c 5 S5 b=} Y &3 =T ] 55 55
3 3 < 3 S S 3| O3 3 3 3 3= 53 = 3 v 3
= Q3 = 3 >3 >3 5 T = Q3 >3 5T v o
S 35 S v 3 N ¥ c c S 35 NE= o< c
a £5 a 5| V3 EN IRVEE] a £3| ¥3 3 3
§+‘3 3 = (=} = é&": = tll = =
1 2 4 5 6 7 8 9 10 11 12 13
puUUBLL SUUGN 118,048.3| 54,976.4 54,976.4| 7,292.5| 6,511.3| 260.4| 260.4| 260.4| 35,019.5| 16,135.0| 5,200.0| 6,350.0( 709.2
wjn pynd
LUuBUSHhY DUUGN 8,092.5 0.0 0.0| 7,292.5| 6,511.3| 260.4| 260.4| 260.4 0.0 0.0 0.0 0.0 0.0
wjn pyntd
untRURAhULEN 7,292.5 0.0 0.0 7,292.5| 6,511.3| 260.4| 260.4( 260.4 0.0 0.0 0.0 0.0 0.0
wjn pynd
UntpupnhwOtbp wtwnwywo Yugdwybpwnipniabtph 7,292.5 0.0 0.0 7,292.5| 6,511.3| 260.4| 260.4( 260.4 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 7,292.5 0.0 0.0 7,292.5| 6,511.3| 260.4| 260.4( 260.4 0.0 0.0 0.0 0.0 0.0
JuaquwytpwnipntGbephb
anuuucunNLueP 800.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Ywuwhwwy npwidwbnphbbp wEunwywb hwunygwéh wy 800.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Jwywnpnwybephb
wyn pyntd
- Ywwhwnwy untpdOghwObn hwdwbpbtphl 800.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N2 hvUuuvuUL UuShduNrh aond oukuutnN 109,955.8( 54,976.4 54,976.4 0.0 0.0 0.0 0.0 0.0 35,019.5| 16,135.0| 5,200.0| 6,350.0( 709.2
wyn pyntd
<pUtuuuu uhansueN 109,955.8( 54,976.4 54,976.4 0.0 0.0 0.0 0.0 0.0 35,019.5| 16,135.0| 5,200.0| 6,350.0( 709.2
wyn pyntd
CELRLN bd chuNnt@3ntuutN 74,936.3| 54,976.4 54,976.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- Gelptnh L 2hGnLpnLGGEph 2hOwnpwpnieynLl 19,959.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Celptnh L 2pGnLpnLGGEph Ywwhuwnwy yspwbnpngnid 54,976.4| 54,976.4 54,976.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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Unyntuwy 08-02-03

1 2 4 5 8 9 10 11 12 13
usL <hUtUnuUL Uhansutn 35,019.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 35,019.5| 16,135.0| 5,200.0| 6,350.0[ 709.2
wjn pynd

- Lwuwgdwhbwnwgnunuwwh dwiuutnp 35,019.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 35,019.5| 16,135.0| 5,200.0| 6,350.0 709.2
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opklph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02

fudph 03 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

wyn pYntd pun dpwgntinh

Lwiwjbplbnh pnieblbnhl

Owwuwunwywihb
Lwuwagswihb wfuwwnwbpbbp Uzwu?:éat:ﬂsﬂ c:]pjbguaubnh hwwunwgniibbph
Zhinuinnteint untpyGghwatnh
npwdwnpnid
wyn pYntd pun wjn pYntd puwn wjn pYntd puwn
Znnywéh woywanidp Jwuwnwpnnlbph = Jwuwnwpnnbbph z Jwuwwpnnlbnph
g = g
o S =3 S é 3 ? é = \3
52| 2| 2| 2| S &5 5 c2
33 33| <3 2 3 g sc g S 3
g5 S > S = S 5 v s 5 5 > S
B c 5 S 5 3 = N =] S 5
53| o3| 33| o3 3 35 3 33
velveliglve]| & g3 5 3 g
v 3 EN VR BREE a c5 a NAE!
3 (=] =1 (=] él": =1
14 15 16 17 18 19 20 21
puUUBLL SUUGN 3,000.0| 285.3| 340.0( 3,000.0( 19,959.9 19,959.9 800.0 800.0
wyn pyntd
LUuBUSHhY DUUGN 0.0 0.0 0.0 0.0 0.0 0.0 800.0 800.0
wjn pyntd
untRURAhULEN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
JuaquwytpwnipntGbephb
anuuucunNLueP 0.0 0.0 0.0 0.0 0.0 0.0 800.0 800.0
wyn pyntd
Ywuwhwwy npwidwbnphbbp wEunwywb hwunygwéh wy 0.0 0.0 0.0 0.0 0.0 0.0 800.0 800.0
Jwywnpnwybephb
wyn pyntd
- Ywwhwnwy untpdOghwObn hwdwbpbtphl 0.0 0.0 0.0 0.0 0.0 0.0 800.0 800.0
N2 hvUuuvuUL UuShduNrh aond oukuutnN 3,000.0( 285.3| 340.0] 3,000.0| 19,959.9 19,959.9 0.0 0.0
wyn pyntd
<pUtuuuu uhansueN 3,000.0| 285.3| 340.0( 3,000.0( 19,959.9 19,959.9 0.0 0.0
wyn pyntd
CELRLN bd chuNnt@3ntuutN 0.0 0.0 0.0 0.0 19,959.9 19,959.9 0.0 0.0
wyn pyntd
- Gelptnh L 2hGnLpnLGGEph 2hOwnpwpnieynLl 0.0 0.0 0.0 0.0 19,959.9 19,959.9 0.0 0.0
- Celptnh L 2hGnipnLGbEph Ywwhuwnwy Epwbnpngnid 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

Unyntuwy 08-02-03
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14 15 16 17 18 19 20 21
usL <huuyuu un2n8utnN 3,000.0f 285.3] 340.0| 3,000.0 0.0 0.0 0.0 0.0
wjn pynd
- LwuwgdwhGunwgnunwywb éwfuukn 3,000.01 285.3( 340.0| 3,000.0 0.0 0.0 0.0 0.0

Unyntuwy 08-02-03
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opklph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 04 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun

Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

{wybywé N 5 - | Grwdujwy
Unjntuwy N 08-02-04

Unyniuwly 08-02-04

wyn pyntd pun Spwagnptph
Uwynipwihb
Unfuhywjhb StnGywwnywywo-yLpiniéwyw b ULOnwlwpwlwywb wignt
opjywinltnh
hhaGwanpNgnLd SwrwjnLpnLbGbtn hwOpwihb hpwabyowl swrwnipntGbtsn gnigwnnnipyntbbtn
ClnwakOp wjn pyntl pun wjn pYntd pun wjn pYntd pun wjn pYNLl pun
nwuh — Jwuwwpnnltph — Jwuwwpnnbbph — Jwuwwpnnbbph — Jwuwwpnnbtnh
<nnwéh wodwhnidp gndwpp c = c =
53 53 o 53 &=
witkony | 2 32 | 2| 2st . 5 E ] 2
H I e | 2| Eis E §e 2 -
3 SE = S5E 3 5E = $3
=} y§3 =} 2=3 =1 3 3 =} 33
3 3£ 3 33¢ 3 N 3 c 3
= 8 3 = = 3 = = 3 = Do
S 35 S S 332 S v 3 S 3
33 v 5 S 3
=1} o1}
1 3 5 6 7 9
LLAUUGLL DUUGN 156,187.1| 4,356.8 4,356.8| 61,639.1 61,639.1 8,505.6 8,505.6| 46,904.3 46,904.3
wyn pyntd
LUuBUSHhY DUUGN 151,830.3 0.0 0.0| 61,639.1 61,639.1 8,505.6 8,505.6| 46,904.3 46,904.3
wyn pyntd
untRUhLAhULEGN 131,830.3 0.0 0.0| 61,639.1 61,639.1 8,505.6 8,505.6| 46,904.3 46,904.3
wyn pyntd
Untpuhnhwbn wewnwywb Yuqiwybnpwneentabepho 131,830.3 0.0 0.0| 61,639.1 61,639.1 8,505.6 8,505.6| 46,904.3 46,904.3
wjn pyntd
- Untpuhnhwotn ng $howbuwywb wbnwywh 131,830.3 0.0 0.0| 61,639.1 61,639.1 8,505.6 8,505.6| 46,904.3 46,904.3
Ywagiwytnwnigntbbtphb
anuuucunNLuen 20,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
LOpwghy npwiw0nphOtp wewnwywb hwnywdh wy 20,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Jwywpnwybepho
wjn pyntd
- Uj| pbpwghy npwdwbnphbtp 20,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N2 rvUvuuvUL U4ShyucNrh aondy ouuutnN 4,356.8| 4,356.8 4,356.8 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
<pULuuuL UhansuenN 4,356.8| 4,356.8 4,356.8 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
CELLGN G chuNnt@3NFLLEN 4,356.8| 4,356.8 4,356.8 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- GtGpbnh L 2hGnignbbEph Yuwhunwy yepwbnpngnid 4,356.8| 4,356.8 4,356.8 0.0 0.0 0.0 0.0 0.0 0.0
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«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £
opklph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 04 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

wjn pYntd pun dpwgntinh

dgnnnypnwyuwb
unbnéwgnpénLjwl
wywbnnyplbph L
dnnwnybuuinh wwhwwbnid

Uwynipwihb wpdtpltph
thnpdwpltlnLpjwb
SwrwjnLpnLGbtn

Gplwlh hwiwpwnwpwihb
Gowlwynipjwb dwiuukn

wjn pYntd pun

wjn pYntd puwn

wjn pYntd pun

= yuunwinpnnGbph = JuunwinpnnO6ph = Ywinwipnnbtph
<nnwéh wodwhnidp c c c
3 3 3 3 g 3
5 £5 5 £5 § 5
g Ec g cc g 5
Sl vE o[ &| v |&| °f%
S S él.
10 11 12 13 14 15
LLAUUGLL DUUGN 7,770.6 7,770.6( 7,010.7 7,010.7( 20,000.0 20,000.0
wyn pyntd
LUuBUSHhY DUUGN 7,770.6 7,770.6( 7,010.7 7,010.7( 20,000.0 20,000.0
wyn pyntd
untRUhLAhULEGN 7,770.6 7,770.6( 7,010.7 7,010.7 0.0 0.0
wyn pyntd
Untpuhnhwbn wewnwywb Yuqiwybnpwneentabepho 7,770.6 7,770.6( 7,010.7 7,010.7 0.0 0.0
wjn pyntd
- Untpuhnhwbp ng $howbuwywb wEunwywb 7,770.6 7,770.6| 7,010.7 7,010.7 0.0 0.0
Ywagiwytnwnigntbbtphb
anuuucunNLuen 0.0 0.0 0.0 0.0] 20,000.0 20,000.0
wyn pyntd
LOpwghy npwiw0nphOtp wewnwywb hwnywdh wy 0.0 0.0 0.0 0.0 20,000.0 20,000.0
Jwywpnwybepho
wyn pyntd
- Uj| pbpwghy npwdwbnphbtp 0.0 0.0 0.0 0.0 20,000.0 20,000.0
N2 rvUvuuvUL U4ShyucNrh aondy ouuutnN 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
<hUuuuudu uh2angutnN 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
CELLGN G chuNnt@3NFLLEN 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- Gklptnh L 2hGnipnLGbEph Ywwhwnwy yEpwbnpngnid 0.0 0.0 0.0 0.0 0.0 0.0

Unyniuwly 08-02-04
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opklph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02

fudph 05 nwuh dnwantph gény hwuwnwwnywd hwinywgniibbph yepdwlniib pun

Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

{wybywé N 5 - | Grwdujwy

Unjntuwly N 08-02-05

Unyntuwy 08-02-05

wyn pYnLd puwn dpwgntinh

Uawlnipuuhl Owbnwiht L pwpbtwpa | Yagwint whwnGdhwlwd U,wlynipwihG ShongwentdGnh
opjElnlnh wnybuwnh GEpQuywgniibbn punEpUINGULNh hnwywbwgnid
hhdGwnpngntd OGpYwywgnLiltn
LOnwaka
rr.:lbuuuh L wyn pYntd pun wjn pYntd puwn wjn pYntd puwn wjn pYntd puwn
Znnywéh woywanidp gnLawnp = Jwuwnwpnnltph = JwuwnwpnnbGph z Jwuwwpnnlbph z Jwuwwpnnlbnph
(hwoup | & -5 : B c - 5 - |-
nwdtenny) | 2 2% g sE g sE g | s |83 <3
= £ 2 = £z 2 £z 2 2 | 5| 3%
S = S =] =] Ee)
= ¥§3 = 33 = 35 = 35 | 83| 58
23 | sz | 3| S | 3| giZE|Z¢
3
a c a v a v a v 3 Y 3
53 3 3 ERINEA RS
1 2 3 4 5 6 7 8 9 10 11
LLNUUBLL DUUGP 886,992.7| 3,617.3 3,617.3| 145,891.2 145,891.2| 63,855.6 63,855.6| 235,111.3( 225,793.4| 819.6( 798.9
wjn pynd
LUuBUSHhY DUUGN 883,375.4 0.0 0.0| 145,891.2 145,891.2( 63,855.6 63,855.6| 235,111.3| 225,793.4| 819.6| 798.9
wjn pyntd
ounusnrk@3ntFuutNrh 64 UNNPULRLENh 198.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
QENLPENNIY
wjn pyntd
SwpniOwywywa swiuubp 198.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- Ywuwh SwrwjnipinLbbbn 198.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
untRURAhULEGN 859,144.2 0.0 0.0| 145,891.2 145,891.2( 63,855.6 63,855.6| 235,111.3| 225,793.4| 819.6| 798.9
wyn pyntd
UntpuhnhwObn weunwywb YugdwytpwnepntaGbpho 742,526.2 0.0 0.0| 145,891.2 145,891.2( 63,855.6 63,855.6| 122,214.6( 112,896.7| 819.6( 798.9
wjn pynd
- Untpuhnhwbn ns $howbuwyub wEnwywh 742,526.2 0.0 0.0 145,891.2 145,891.2( 63,855.6 63,855.6| 122,214.6| 112,896.7| 819.6| 798.9
YuaquwytpwnipntGbepha
UntpuhnhwObp ng wewnwywb YuwgdwytpwnipintGenhb 116,618.0 0.0 0.0 0.0 0.0 0.0 0.0 112,896.7| 112,896.7 0.0 0.0
wyn pyntd
- Untpuhnhw0bp ns wEnwywb ng Shawbuwlywh 116,618.0 0.0 0.0 0.0 0.0 0.0 0.0 112,896.7 112,896.7 0.0 0.0
YuaquwytpwnipntGbepha
unshuLu4yuu uMuUUSLEN B4 yGuuurNouuwLLN 14,160.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 14,160.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Owwuinbtn (pnietihg)
wyn pyntd
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Unyntuwy 08-02-05

1 2 8 10 11

- Uppwywa, dowynipwihlb L uynpunwht Gwwuwnbtp pnwetihg 14,160.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
u3L dumnutnN 9,872.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

Lyhpwwnynipntbbbn ng yuwrwywnswywb (hwuwpwyuwywh) 9,872.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtphb

wjn pynd

- LyhpwwunynipyntbOtn wy whnyp shGunwwbnnn 9,872.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtphb

N2 hvUvuulvuUL U4ShyuNrh @onNYy oukuutN 3,617.3| 3,617.3 3,617.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd

<pUtuuuu uhansueN 3,617.3| 3,617.3 3,617.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

CGLRGN BJ ChULNHB3NtLLEN 3,617.3| 3,617.3 3,617.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

- Chlptnh L 2hGnipintbbbph Ywwhuwnwy Epwbnpngnid 3,617.3( 3,617.3 3,617.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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opklph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 05 nwuh dnwantph gény hwuwnwwnywd hwinywgniibbph yepdwlniib pun

Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

Unyntuwy 08-02-05

wyn pYntd puwn dpwgntinh

Uwynipwihb shongwrenidbbph hpwywbwgnid

Uowygnipntb
ownwntpypjw
wtwnipnLbbGBpnLd

hwjwtgnt pwunbpwywl

«dnnnypnwiywb» ywwnydwynn
ynstiwl wpdwlwgwé whdwhg
wiblwduw wwwnyny &wn

OGpYwywgnLibtnhl
wyn pYntd puwn wyjn pUYntd puwn wyn pYnLd puwn
Znnywéh woywanidp Jwuwnwnnnbtph = Jwuwnwnnnbtph z Jwuwnwnnnbtph
c .
g g
=l S =3 S
= S| 23 S| <3 3 < 3 = 3 < 3 2 s g z S§s 353 _o
sc S = eTl=A o c S csc << © 5.2 © oS3 @352 ¢
=3 | g3| 3| 33|33 2 S 3 Z 3 g ge¢ g 35cE3z38
35| 251 5| 55| 25| =5 25 | 35 et E5S B §35s353¢
2 B 55 5B 25 c b c b5 =T 3B =1 2% 3 =) 33233523
S3| 23| Y| 53| 93| 53 33| &3 3 == 3 SE255£<c53
g | g | Yo g | v o 5 T g = 353 = S=2353D8¢8
c c c ve | Jc NS < NAR= S V-1 S Sc<c5c333
Y3923 3| V3 S| V3| ¥Y3| V3 a v 5 a |35 5§53°53
(=} NA= (=1 > (=} > (=] (=] S NA S
v v
12 13 14 15 16 17 18 19 20 21 22 23
LLNUUBLL DUUGP 640.9| 819.5| 885.6| 601.0( 864.4| 1,792.9| 1,234.6| 860.5( 5,000.0 5,000.0( 14,160.0 14,160.0
wjn pynd
LUuBUSHhY DUUGN 640.9| 819.5| 885.6| 601.0( 864.4| 1,792.9| 1,234.6| 860.5( 5,000.0 5,000.0( 14,160.0 14,160.0
wjn pyntd
ounusnt@3ntuuNrh B4 UNPULRLENN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
QENLPENNIY
wjn pyntd
Cwpnibwywywb swiuukn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- Ywuwh SwrwjnipinLbbbn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
untRURAhULEGN 640.9| 819.5| 885.6| 601.0( 864.4| 1,792.9| 1,234.6| 860.5 0.0 0.0 0.0 0.0
wyn pyntd
Untpuhnhwlbp wtwnwywb YuwgdwybpwnipyntbOtph 640.9| 819.5( 8856 601.0| 864.4( 1,792.9| 1,234.6| 860.5 0.0 0.0 0.0 0.0
wjn pynd
- Untpuhnhwltn ng $hOwbuwywl wybnwywh 640.9| 819.5| 885.6| 601.0( 864.4| 1,792.9| 1,234.6| 860.5 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
UntpuhnhwObp ng wewnwywb YuwgdwytpwnipintGenhb 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- Untpuhnhwbtp ng wwnwywb ng $hawbuwywb 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
unshuLu4yuu uMuUUSLEN B4 yGuuurNouuwLLN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 14,160.0 14,160.0
wyn pyntd
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 14,160.0 14,160.0
Owwuinbtn (pnietihg)
wyn pyntd
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12 13 14 15 16 17 18 19 20 21 22 23

- Uppwlwl, dwynipwiht L uwynpunwiht GuywuwnObp pneetihg 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 14,160.0 14,160.0
u3L dumnutnN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 5,000.0 5,000.0 0.0 0.0
wjn pyntd

Lyhpwwnynipntbbbn ng yuwrwywnswywb (hwuwpwyuwywh) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5,000.0 5,000.0 0.0 0.0
Ywagiwytnwnigntbbtphb

wjn pynd

- LyhpwwunynipyntbOtn wy whnyp shGunwwbnnn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5,000.0 5,000.0 0.0 0.0
Ywagiwytnwnigntbbtphb

N2 hvUvuulvuUL U4ShyuNrh @onNYy oukuutN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd

<pUtuuuu uhansueN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

CGLRGN BJ ChULNHB3NtLLEN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

- Cklptnh L 2nGnLpnLGbEph Ywwhunwy YEpwbnpngnid 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




86¢

«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £
opklph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02

fudph 05 nwuh dnwantph gény hwuwnwwnywd hwinywgniibbph yepdwlniib pun

Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

Unyntuwy 08-02-05

wyn pYntd puwn dpwigntinh

Bwunbpwywb GepYuwywgniibtn

Gpwdywnwnybunh L wwpwpybuwnp
hwitpqlbp

Uowygnipintt hwy

Gwynyph dhowagquihG

ytbunpnGOGpha
wyn pYntd pun wjn pYntd puwn wjn pYntd puwn
Znnywéh woywanidp z Jwuwnwpnnlbph z JwuwnwpnnbGph = Jwuwnwpnnlbph
c c c
g 3 3 s = g 3 3 ) g 3
c o c c < 3 3 c c c c 3 c S c
2 sc <2 | 25| &% S s | c2| 55 b S8
S € c S El :% S € c S 3 S Elr==
B 33 | 33| s3| 23 3 35 | 35| E=B B 555
3 S S c 3 = 3 S5 3 3 S5 c 3 o 3 3 % S5
S N 3 b3 gg| yvg S N ?1 b3 NS S < d;gi
S 3 NV = S 3 = S
=1} =1}
24 25 26 27 28 29 30 31 32 33 34
LLAUUBLL DUUGN 237,906.7( 184,078.8| 40,983.4| 6,605.1| 6,239.4| 172,658.1| 154,182.7| 6,541.3| 11,934.1| 4,872.9 4,872.9
wjn pynd
LUuBUSHhY DUUGN 237,906.7( 184,078.8| 40,983.4| 6,605.1| 6,239.4| 172,658.1| 154,182.7| 6,541.3| 11,934.1| 4,872.9 4,872.9
wjn pyntd
ounusnt@3ntuuNrh B4 UNPULRLENN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
QENLPENNIY
wjn pyntd
Cwpnibwywywb swiuukn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- Ywuwh SwrwjnipinLbbbn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
untRURAhULEGN 237,906.7( 184,078.8| 40,983.4| 6,605.1| 6,239.4| 172,658.1 154,182.7| 6,541.3| 11,934.1 0.0 0.0
wyn pyntd
Untpuhnhwlbp wtwnwywb YuwgdwybpwnipyntbOtph 237,906.7( 184,078.8( 40,983.4| 6,605.1| 6,239.4| 172,658.1 154,182.7| 6,541.3| 11,934.1 0.0 0.0
wjn pynd
- Untpuhnhwltn ng $hOwbuwywl wybnwywh 237,906.7( 184,078.8| 40,983.4| 6,605.1| 6,239.4| 172,658.1 154,182.7| 6,541.3| 11,934.1 0.0 0.0
YuaquwytpwnipntGbepha
UntpuhnhwObp ng wewnwywb YuwgdwytpwnipintGenhb 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- Unipuhnhwlbp ng wewnwywl ng $hbwbuwywb 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
unshuLu4yuu uMuUUSLEN B4 yGuuurNouuwLLN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Owwuinbtn (pnietihg)
wyn pyntd




66¢€

Unyntuwy 08-02-05

24 25 26 27 28 29 30 31 32 33 34

- Uppwywa, dowynipwihlb L uynpunwht Gwwuwnbtp pnwetihg 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
u3L dumnutnN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 4,872.9 4,872.9
wjn pyntd

Lyhpwwnynipntbbbn ng yuwrwywnswywb (hwuwpwyuwywh) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 4,872.9 4,872.9
Ywagiwytnwnigntbbtphb

wjn pynd

- LyhpwwunynipyntbOtn wy whnyp shGunwwbnnn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4,872.9 4,872.9
Ywagiwytnwnigntbbtphb

N2 hvUvuulvuUL U4ShyuNrh @onNYy oukuutN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd

<pUtuuuu uhansueN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

CGLRGN BJ ChULNHB3NtLLEN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

- Cklptnh L 2nGnLpnLGbEph Ywwhunwy YEpwbnpngnid 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £

opklph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02

fudph 05 nwuh dnwantph gény hwuwnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

wyn pYntd puwn dpwantiph

«dnnnypnwywb»
wwunywynp Ynsdwb
wndwlwgwsé whdwbg
wiblwduw wwwnyny&wnph
JAwniwl swewjnipyintbabn

SwnpwépwihG

hwdwgnpswygnipwl L
hwiwhwjywywb dywynipwih
opwantph hpwywbwgnid

wjn pYntd pun wyn pYntd pun
Znnywéh woywanidp z Jwuwnwnpnnltph z Jwuwwpnnlbph

. .

g i =] g =

§185.83252| § §§

g |35ceSz3¢= g € c

e §35<c353¢ B =<

= ©332Z3¢% = 33

3 |22552E53 3 Sc

Z |&32 3935535 S <3

c 35 53 g B a V3

N = =
v

35 36 37 38
LLAUUBLL DUUGN 198.3 198.3 3,721.3 3,721.3
wyn pyntd
LUuBUSHhY DUUGN 198.3 198.3 3,721.3 3,721.3
wjn pyntd
ounusnt@3ntuutNrh 64 UNNULRLENH 198.3 198.3 0.0 0.0
QENLPENNIY
wjn pyntd
Cwpnibwywywb swiuukn 198.3 198.3 0.0 0.0
wjn pyntd
- Ywuwh dwrwnipINLbOG 198.3 198.3 0.0 0.0
untRURAhULEGN 0.0 0.0 3,721.3 3,721.3
wyn pyntd
Untpuhnhwlbp wtwnwywb YuwgdwybpwnipyntbOtph 0.0 0.0 0.0 0.0
wjn pynd
- Unipuhnhwbp ng $h0wbuwywb wyEunwywb 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
UntpuhnhwObp ng wewnwywb YuwgdwytpwnipintGenhb 0.0 0.0 3,721.3 3,721.3
wyn pyntd
- Unipuhnhwlbp ng wewnwywl ng $hbwbuwywb 0.0 0.0 3,721.3 3,721.3
YuaquwytpwnipntGbepha
unshuLu4yuu uMuUUSLEN B4 yGuuurNouuwLLN 0.0 0.0 0.0 0.0
wyn pyntd
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 0.0 0.0 0.0 0.0
Owwuinbtn (pnietihg)
wyn pyntd

Unyntuwy 08-02-05



[40)4

35 36 37 38

- Uppwywa, dowynipwihlb L uynpunwht Gwwuwnbtp pnwetihg 0.0 0.0 0.0 0.0
u3L dumnutnN 0.0 0.0 0.0 0.0
wjn pyntd

Lyhpwwnynipntbbbn ng yuwrwywnswywb (hwuwpwyuwywh) 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtphb

wjn pynd

- LyhpwwunynipyntbOtn wy whnyp shGunwwbnnn 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtphb

N2 hvUvuulvuUL U4ShyuNrh @onNYy oukuutN 0.0 0.0 0.0 0.0
wjn pynd

<pUtuuuu uhansueN 0.0 0.0 0.0 0.0
wjn pyntd

CGLRGN BJ ChULNHB3NtLLEN 0.0 0.0 0.0 0.0
wjn pyntd

- Chlptnh L 2hGnipintbbbph Ywwhuwnwy Epwbnpngnid 0.0 0.0 0.0 0.0

Unyntuwy 08-02-05
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«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £
opklph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 06 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

{wybywé N 5 - | Grwdujwy
Unjntuwy N 08-02-06

Unyntuwy 08-02-06

wyn pyntd puwn dpwigntinh

Uhbn-$nunn-Hnlin

Ywagiwytnwnigntbbtphb

UhUnGywnbtnh Uqqwjhlb Yhanépwanknh hwywpwdénth Quwuunwywybpwgnwywl
wpuwnpnLnLl hpwywbwgntd wwhwwbiwb yhGnépwgnpbph hpwywbwgntd
SwrwjnLpnL0bGn
ClnwakOp wjn pYntl pun wjn pYntd pun wjn pYntd pun wjn pYnLl putn
nwuh — Jwuwwpnnbbph — Jwuwnwpnnbbph — Jwuwwpnnbbph — Ywuwwnpnnbtph
<nnwéh wodwhnidp gndwpp c c c =
(hwquip g S g S g =) g S
1]+ é c c é c c é c c é c c
nnwabtnny) 5 c = S & o [l 0 e
ol e & e ] = & ol e & l e &
3 S s 3 S s 3 S s 3 S5
g 3 5 3 g 3 g 3
a N a VS a N a N
[t ) = [t ) [ )
1 3 5 7 9
LLAUUGLL DUUGN 125,536.6( 90,991.3 90,991.3| 25,198.2 25,198.2| 2,7471 2,747 .1 6,600.0 6,600.0
wyn pyntd
LUuBUSHhY DUUGN 125,536.6( 90,991.3 90,991.3| 25,198.2 25,198.2| 2,7471 2,747 .1 6,600.0 6,600.0
wyn pyntd
untRUhLAhULEGN 125,536.6( 90,991.3 90,991.3| 25,198.2 25,198.2| 2,7471 2,747 .1 6,600.0 6,600.0
wyn pyntd
Untpuhnhwbn wewnwywb Yuqiwybnpwneentabepho 125,536.6( 90,991.3 90,991.3| 25,198.2 25,198.2| 2,7471 2,747 .1 6,600.0 6,600.0
wjn pyntd
- Untpuhnhwotn ng $howbuwywb wbnwywh 125,536.6( 90,991.3 90,991.3| 25,198.2 25,198.2| 2,7471 2,747 .1 6,600.0 6,600.0
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«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £
opklph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 07 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

{wybywé N 5 - | Grwdujwy
Unjntuwy N 08-02-07

Unyntuwy 08-02-07

wjn pYntd puwn dpwgntinh

wyn pyntd

Uowygnipnt Mwundwdwyntpwih
@phihuhntd qunGynn huy dwnwgnupu <4nLwndwbbbph <4nLpwndwbbph
yGpwbnpngnid L wnbjubhywywb yhdwyp
annnOtph wwopknbh ghunwhGunwagnunwywb Ybpwlwagn.d dnGhunphag
wwhwwbiwbp wluwwnwbpltn
ClnwakOp wjn pyntl pun wjn pYntd pun wjn pYntd pun wjn pUnLl putn
nwuh — Jwuwwpnnltph — Jwuwwpnnbbph — Jwuwnwpnnbbph — Jwuwwpnnltph
<nnwéh wodwhnidp gndwpp c c c c
(hwaquin 3 3 ] 3 3 3 ] =
nnwattpny) 5 % S £ €5 £ €5 £ &5
g 3E¢c g cc g cc g g c
2 5§85 B 35 2 35 2 35
Sl o352 | 2| vio| B 9@o|E| §2
ad v 3 d V'3 d V'3 ad V3
[t ) [ ) = [ )
1 3 4 5 7 9
LLAUUGLL DUUGN 120,709.1| 1,000.0 1,000.0 13,641.1 13,641.1| 104,400.0 104,400.0| 1,668.0 1,668.0
wyn pyntd
LUuBUSHhY DUUGN 16,309.1( 1,000.0 1,000.0 13,641.1 13,641.1 0.0 0.0| 1,668.0 1,668.0
wyn pyntd
untRUhLAhULEGN 15,309.1 0.0 0.0 13,641.1 13,641.1 0.0 0.0| 1,668.0 1,668.0
wyn pyntd
Untpuhnhwbn wewnwywb Yuqiwybnpwneentabepho 15,309.1 0.0 0.0 13,641.1 13,641.1 0.0 0.0| 1,668.0 1,668.0
wjn pyntd
- Untpuhnhwotn ng $howbuwywb wbnwywh 15,309.1 0.0 0.0 13,641.1 13,641.1 0.0 0.0| 1,668.0 1,668.0
Ywagiwytnwnigntbbtphb
u3L ouwugP 1,000.0| 1,000.0 1,000.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
Lyhpwwnynigntbbbn ng yuwrwywnswywb (hwuwpwyuwywh) 1,000.0| 1,000.0 1,000.0 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtphb
wjn pyntd
- LyhpwwunynipyntbOtn wy whnyp shGunwwbnnn 1,000.0| 1,000.0 1,000.0 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtphb
N2 hvuvuulvuL U4sShyuNrh aonNYy oukuutN 104,400.0 0.0 0.0 0.0 0.0| 104,400.0 104,400.0 0.0 0.0
wjn pyntd
<pULuuuuL UhansuenN 104,400.0 0.0 0.0 0.0 0.0| 104,400.0 104,400.0 0.0 0.0
wjn pynLd
CELLGN G CchuNtEB3NFLLEN 92,600.0 0.0 0.0 0.0 0.0] 92,600.0 92,600.0 0.0 0.0
wjn pynd
- Ctlptnh L 2nGnLpintGGEph 2hGwpwpnieynLl 92,600.0 0.0 0.0 0.0 0.0 92,600.0 92,600.0 0.0 0.0
usL <huuyuu un2nsuknN 11,800.0 0.0 0.0 0.0 0.0/ 11,800.0 11,800.0 0.0 0.0




1Y%

Unyntuwy 08-02-07

1

6

7

8

- Lwuwgdwhbunwgnunwyw wiuukn

11,800.0

0.0

0.0

0.0

0.0

11,800.0

11,800.0

0.0

0.0
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«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £

opklph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 03

fudph 01 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

{wybywé N 5 - | Grwdujwy
Unjniuwy N 08-03-01

Unyntuwly 08-03-01

wjyn pYnLd puwn pwantinh

Qnpéwnhp h2luwlnipwa,
wEnwywl Yurwywnpdwb
hwOpwwtnwywo L
nwnwépwiht yuwrwywpiwb
dwndhbbBph ywhwwlnid

<GrnLunwunbuwih
SwrwjnLpnLbGOtn

MNwnhn dwrwjnipinLGbbn

htrnt

Nwnhn L
utnwunbuwihl

SwrwjnLpnLGbtn

wjn pYntd pun

wjn pYntd puwn

wyn pYntd pun

wjn pYntd puwn

QOnwakGp Jwuwnwnpnnltph Jwuwwpnnlbph Jwuwnwpnnltph Jwuwnwpnnbbph
Znqwsh woywlnug ke z 3 = 3 = 3 = 3
nnywéh waywbnidp gnLuwpp 2 = = 3,
(hwun | §& |2 25 £ 25 £ 28 £ 25
nwdtkpnd) | 3 | 325 | 25 2 25 2 25 2 25
S o|siE|33e| 2| i | 2| e | 2| 5
S 2956 c €5 S c €5 S £ g= S c g5
E) 3 c £ £ ) c £ £ ) o c £ ) c £ £
3 S Lg S € 3 S € 3 S € 3 S €
g_ 3FTo 3 3¢ g_ 3 3¢ g_ 3 3¢ g_ 33 c
£ 1583|552 § 552 £ I £52
< 3£ | 35 < 35 < 35 < 35
5 32 32 32 32
v < g < g < g < g
5 i} L 5
e e e ey
1 2 3 4 5 6 7 8 9 10
LLAUUGLL DUUGN 1,179,207.6| 38,175.7| 21,077.2| 17,098.5| 867,293.2 867,293.2| 183,939.0 183,939.0( 5,793.8 5,793.8
wjn pyntd
QUBUShY DUuUGN 1,176,150.2| 38,175.7| 21,077.2| 17,098.5| 867,293.2 867,293.2| 183,939.0 183,939.0( 5,793.8 5,793.8
wyn pyntd
uchuusuueh Jyurusrni@3ntu 29,460.3| 29,460.3| 17,609.0| 11,851.3 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Ywdnd JAwnpynn wzfuwwnmwywnpdtn b hwy Gjudgwnbtn 25,886.7| 25,886.7| 15,513.2| 10,373.5 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- Uzfuwwnnnbbph wiuwwnwywnpétbn b hwd Giudgwnbbn 21,002.0| 21,002.0| 10,628.5| 10,373.5 0.0 0.0 0.0 0.0 0.0 0.0
- Punwpwghwywl, nuwunwywb b weunwywb wy 4,884.7| 4,884.7| 4,884.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SwrwjnnUbph wwpglwwnpnid
Quwuwnwgh unghwjwywl wwwhnynipjwb yswnbbp 3,573.6( 3,573.6] 2,095.8( 1,477.8 0.0 0.0 0.0 0.0 0.0 0.0
ounusnt@3ntuvuNMrh 64 UMNPULRLENh 58,013.0| 8,499.4| 3,252.2| 5,247.2 0.0 0.0 0.0 0.0 0.0 0.0
olujpisialv]alnlv)
wjn pynd
Swpnibwywywb dwiuukn 3,488.7| 3,488.7| 1,566.2| 1,922.5 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- EGGpgbuinhy SwrwnipynLbGbp 628.5 628.5 628.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Undntbw) SwrwniynLGbbn 27.8 27.8 27.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Ywuwh swrwjnieintbtbbn 1,935.4| 1,935.4 909.9| 1,025.5 0.0 0.0 0.0 0.0 0.0 0.0
- Qnuph L uwppwynpniibbph yuwpdwywinigntb 897.0 897.0 0.0 897.0 0.0 0.0 0.0 0.0 0.0 0.0




90¥
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1 2 3 4 5 6 7 8 9 10
Qnnpéninnuibtnh L 2powqunigntbbbph wfuubn 2,71121| 2,7121 291.2| 2,420.9 0.0 0.0 0.0 0.0 0.0 0.0
Mwjdwbwagnuih0 wy Swewnigyntbbph dGrpptpnid 49,793.6 280.0 180.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- SbnGYwwnywywb swewjnipyntbOtn 49,573.6 60.0 60.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- LEpYwywgnigswywb swiuubp 200.0 200.0 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
- LUnhwntp pOniph wy SwrwjnipINLOGEN 20.0 20.0 20.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
LOpwghy Gnpngntd L wwhwwbnd (Swrewjnegintbbtn L 400.4 4004 300.4 100.0 0.0 0.0 0.0 0.0 0.0 0.0
Qynupkin)
wjn pyntd
- Ubptbwatph L uwppwynnpniibbph ppwghy Gnpngned L 400.4 4004 300.4 100.0 0.0 0.0 0.0 0.0 0.0 0.0
wwhww(nid
Ujneptin (UwpwGpbbn) 1,618.2| 1,618.2 914.4 703.8 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- Qpwublwywhb Wneetn L hwgniuwn 156.4 156.4 65.4 91.0 0.0 0.0 0.0 0.0 0.0 0.0
- Spwluwnpuwhb Onipbn 1,452.8| 1,452.8 840.0 612.8 0.0 0.0 0.0 0.0 0.0 0.0
- UGagwnwihb L hwbOpwihb ubGnh OneRtN 9.0 9.0 9.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
untpUhAhULEGN 8,306.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
UntpuhnhwObn wewnwywb Yuqiwybnpwneentabspho 8,306.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 8,306.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtpha
anuuucunNPLuen 1,080,154.5 0.0 0.0 0.0| 867,293.2 867,293.2| 183,939.0 183,939.0( 5,793.8 5,793.8
wyn pyntd
LOpwghy npwiwzbnphbbn wewnwywb hwuinydwdéh wy 1,002,061.8 0.0 0.0 0.0 789,200.5 789,200.5| 183,939.0 183,939.0( 5,793.8 5,793.8
Jwywpnwybepho
wyn pynty
- COpwghy npwiwtnphObp wEwnwywb L hwdwopwih 1,002,061.8 0.0 0.0 0.0 789,200.5 789,200.5| 183,939.0 183,939.0( 5,793.8 5,793.8
wrbnpwihb Yuwgiwytnpwnigntbbtph
Ywwhuw) nhwdwb0nphbbn wewnwywb hwunygwéh wy 78,092.7 0.0 0.0 0.0| 78,092.7 78,092.7 0.0 0.0 0.0 0.0
Jwywnpnwybephb
wyn pyntd
- Ywwhwnw npwiw0nphbbp wenwywl L hwdwytpwihb 78,092.7 0.0 0.0 0.0 78,092.7 78,092.7 0.0 0.0 0.0 0.0
wrbinpwihb Yuqiwytnwneentabeph
unshuLu4yuu uMuUUSLEN B4 ysuuuNouuwLLN 216.0 216.0 216.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 216.0 216.0 216.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Owwuwnbtn (pnLotihg)
wyn pyntd
- Uy, bwywuwnbbn pniobihg 216.0 216.0 216.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N2 hvUvuulvuL U4sShyuNrh onNYy oukuutN 3,057.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pynty
<pULuuuu UuhansuenN 3,057.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

wjn pyntd




L0¥

Unyntuwly 08-03-01

1 2 3 4 5 7 8 9 10
utecuuutN 64 uureudnhnruuen 3,057.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
- Ywpswlwl uwppwynpniibtn 3,057.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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opklph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 03
fudph 01 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

Unyntuwly 08-03-01

wyn pyntd puwn dpwigntinh

umng< epynbbpnid <wuuLtJunu(;lr;|thL|uJ[| SGunbuwywb Q0nLibtnh gnpéplpwgh
hGrnLunwrwnhndnwagntph mumdﬂrllju[?ndum Jbpineénipintbbeph hpwwwpwywjbnipjwb
hGrwpdwyntd SwnwnLENLAGEN SwrwjnLpnLGbtn wwwhnyntyd
wjn pYntd pun wjn pYntd pun wjn pYntd pun wjn pUnLd pun
Jwuwnwpnnlbph Jwuwnwpnnlbph Jwuwwpnnlbnph Jwuwnwnpnnlbph
<nywish woywlntop = = 3 = =
& & = g S &
3 = 3 3 E 3 e 3 =3
c . C c c 5 c o o c c C
*3) [ *3) S3 o :3 =3 *3) 5 &
o =z o 38 ¢ <] c> =] =
3 S c 3 £ cz 3 3 3 S c
B 3 B cEc 5 3 B
3 3 3 S =< =1 =5 3 33
3 55 3 33€ 3 33 3 25
= 3 = g3 = &35 = 5 3
S =1 S 3 S 35 S =1
S = A S
32 Vs
v E
5
c
11 12 13 14 15 16 17 18
LLAUUGLL DUUGN 20,468.0 20,468.0| 2,660.5 2,660.5| 8,306.4 8,306.4 44,083.2 44,083.2
wjn pyntd
QUBUShY DUuUGN 20,468.0 20,468.0| 2,660.5 2,660.5| 8,306.4 8,306.4( 44,083.2 44,083.2
wyn pyntd
uchuusuueh Jyurusrni@3ntu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Ywdnd JAwnpynn wzfuwwnmwywnpdtn b hwy Gjudgwnbtn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- Uzfuwwnnnbbph wiuwwnwywnpétbn b hwd Giudgwnbbn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Punwpwghwywl, nuwunwywb b weunwywb wy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SwrwjnnUbph wwpglwwnpnid
Quwuwnwgh unghwjwywl wwwhnynipjwb yswnbbp 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ounusnt@3ntuvuNMrh 64 UMNPULRLENh 0.0 0.0 0.0 0.0 0.0 0.0| 44,083.2 44,083.2
olujpisialv]alnlv)
wjn pynd
Swpnibwywywb dwiuukn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- EGGpgbuinhy SwrwnipynLbGbp 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Undntbw) SwrwniynLGbbn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Ywuwh dwrwjnipINLbO6N 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Qnuph L uwppwdnpniibtph Jupdwywintpintb 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




60%

Unyntuwly 08-03-01

11 12 13 14 15 16 17 18
Anpéninnuibtph L 2powgqunipintGbbph dwiuubp 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Mwjdwbwagnuih0 wy Swewnigyntbbph dGrpptpnid 0.0 0.0 0.0 0.0 0.0 0.0 44,083.2 44,083.2
wjn pyntd
- SbnGYwwnywywb swewjnipyntbOtn 0.0 0.0 0.0 0.0 0.0 0.0 44,083.2 44,083.2
- LEpYwywgnigswywb swiuubp 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- LUnhwOnip pOniph wy SwrwyniINLGGEN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
LOpwghy Gnpngned L wwhwwOnid (SwewjnueyiniaObn b 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Qynupbn)
wjn pyntd
- Ubptbwatph L uwppwynnpniibbph ppwghy Gnpngned L 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wwhww(nid
Ujneptin (UwpwGpbbn) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- Qpwubluywihb Gneebp L hwagniuwn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Spwluwnpuwhb Onipbn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- UGagwnwihb L hwbOpwihb ubGnh OneRtN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
untrUbLAhULEN 0.0 0.0 0.0 0.0] 8,306.4 8,306.4 0.0 0.0
wyn pyntd
UntpuhnhwObn wewnwywb Yuqiwybnpwneentabspho 0.0 0.0 0.0 0.0 8,306.4 8,306.4 0.0 0.0
wyn pyntd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 0.0 0.0 0.0 0.0 8,306.4 8,306.4 0.0 0.0
Ywagiwytnwnigntbbtpha
anuuucunNPLuen 20,468.0 20,468.0| 2,660.5 2,660.5 0.0 0.0 0.0 0.0
wyn pyntd
LOpwghy npwiw0nphOtn wenwywb hwnywdéh wy 20,468.0 20,468.0| 2,660.5 2,660.5 0.0 0.0 0.0 0.0
Jwywpnwybepho
wyn pyntd
- LOpwghy npwdwbnphbbp wewnwywb L hwdwtpwihh 20,468.0 20,468.0| 2,660.5 2,660.5 0.0 0.0 0.0 0.0
wrbnpwihb Yuwgiwytnpwnigntbbtph
Ywuwhwwy npwidwtnphbbp wEunwywb hwunygwéh wy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Jwywnpnwybenhb
wyn pyntd
- Ywwhwnw npwiw0nphbbp wenwywl L hwdwytpwihb 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wrbinpwihb Yuqiwytnwneentabeph
unshuLu4yuu uMuUUSLEN B4 ysuuuNouuwLLN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Owwuwnbtn (pnLotihg)
wyn pyntd
- W Gwywuinbtp pintothg 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N2 hvUvuulvuL U4sShyuNrh onNYy oukuutN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
<pULuuuu UuhansuenN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd




oLy

Unyntuwly 08-03-01

11 12 13 14 15 16 17 18
utecuuutN 64 uureudnhnruuen 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
- Ywpswlwl uwppwynpniibtn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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opklph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 03
fudph 01 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun

Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

wyn pYntd puwn 6pwagnkiph
Pwpngswywa Lbnnnnattn Lwjwunwb-Uthintep hrwywn
pwnngswywb
wpfuwwnwbpltnh ynGdptnpwhubtph
0 § wpfuwwnwbpbph Swlb §
hnwluiGwgnt hpwwlwgdwb hwiwn YwqdwlGnuynt
wjn pYntd pun wjn pYntd pun wjn pYntd pun
JwuwnwpnnbGph Jwuwnwnpnnltph Jwuwwpnnbbph
fb=)
Znnwdh wojwbndp Z Z =z =4
c <2 c <2 c c
o c o = o c
3 52 3 52 3 c
c O c c o c o 3
© ISR © ISR © c
c e} c al
s 28 | g 28 | ¢ z
=1 -& 3 =] -& 3 3 3
ad c a c ad o
3 3 S
335 335 c
Y Y =
v/
19 20 21 22 23 24
LLAUUGLL DUUGN 5,055.4 5,055.4| 3,057.4 3,057.4 375.0 375.0
wjn pyntd
QUBUShY DUuUGN 5,055.4 5,055.4 0.0 0.0 375.0 375.0
wyn pyntd
uchuusuueh Jyurusrni@3ntu 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Ywdnd JAwnpynn wzfuwwnmwywnpdtn b hwy Gjudgwnbtn 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- Uzfuwwnnnbbph wiuwwnwywnpétbn b hwd Giudgwnbbn 0.0 0.0 0.0 0.0 0.0 0.0
- Punwpwghwywl, nuwunwywb b weunwywb wy 0.0 0.0 0.0 0.0 0.0 0.0
SwrwjnnUbph wwpglwwnpnid
Quwuwnwgh unghwjwywl wwwhnynipjwb yswnbbp 0.0 0.0 0.0 0.0 0.0 0.0
ounusnt@3ntuvuNMrh 64 UMNPULRLENh 5,055.4 5,055.4 0.0 0.0 375.0 375.0
olujpisialv]alnlv)
wjn pynd
Cwpnibwywywb dwfuubn 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- EGGpgbuinhy SwrwnipynLbGbp 0.0 0.0 0.0 0.0 0.0 0.0
- Undntbw) SwrwniynLGbbn 0.0 0.0 0.0 0.0 0.0 0.0
- Ywuwh dwrwjnipINLbO6N 0.0 0.0 0.0 0.0 0.0 0.0
- Qnuph L uwppwdnpniibtph Jupdwywintpintb 0.0 0.0 0.0 0.0 0.0 0.0

Unyntuwly 08-03-01
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19 20 21 22 23 24
Anpéninnuibtph L 2powgqunipintGbbph dwiuubp 0.0 0.0 0.0 0.0 0.0 0.0
Mwjdwbwagnuih0 wy Swewnigyntbbph dGrpptpnid 5,055.4 5,055.4 0.0 0.0 375.0 375.0
wjn pyntd
- SbnGYwwnywywb swewjnipyntbOtn 5,055.4 5,055.4 0.0 0.0 375.0 375.0
- LEpYwywgnigswywb swiuubp 0.0 0.0 0.0 0.0 0.0 0.0
- LUnhwOnip pOniph wy SwrwyniINLGGEN 0.0 0.0 0.0 0.0 0.0 0.0
LOpwghy Gnpngned L wwhwwOnid (SwewjnueyiniaObn b 0.0 0.0 0.0 0.0 0.0 0.0
Qynupbn)
wjn pyntd
- UbpbOwotnh L uwppwynpnidlbph pbpwghy Gnpngned L 0.0 0.0 0.0 0.0 0.0 0.0
wwhww(nid
Unipbp (Uwnwbpltn) 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- Qpwubluywihb Gneebp L hwagniuwn 0.0 0.0 0.0 0.0 0.0 0.0
- Spwluwnpunuwihb Ojneptn 0.0 0.0 0.0 0.0 0.0 0.0
- UGagwnwihb L hwbOpwihb ubGnh OneRtN 0.0 0.0 0.0 0.0 0.0 0.0
untpUhAhULEGN 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Untpuhnhwbtbp wtnwywb YuwqiwybpwnipintGGephb 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 0.0 0.0 0.0 0.0 0.0 0.0
JuqiwytpwnipntGbephb
anuuucunNPLuen 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
LOpwghy npwiw0nphOtn wenwywb hwnywdéh wy 0.0 0.0 0.0 0.0 0.0 0.0
Jwywpnwybepho
wyn pyntd
- LOpwghy npwdwbnphbbp wewnwywb L hwdwtpwihh 0.0 0.0 0.0 0.0 0.0 0.0
wrbnpwihb Yuwgiwytnpwnigntbbtph
Ywuwhwwy npwidwtnphbbp wEunwywb hwunygwéh wy 0.0 0.0 0.0 0.0 0.0 0.0
Jwywnpnwybenhb
wyn pyntd
- Ywwhwnw npwiw0nphbbp wenwywl L hwdwytpwihb 0.0 0.0 0.0 0.0 0.0 0.0
wrbinpwihb Yuqiwytnwneentabeph
unshuLu4yuu uMuUUSLEN B4 ysuuuNouuwLLN 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 0.0 0.0 0.0 0.0 0.0 0.0
Owwuwnbtn (pnLotihg)
wyn pyntd
- W Gwywuinbtp pintothg 0.0 0.0 0.0 0.0 0.0 0.0
N2 hvUvuulvuL U4sShyuNrh onNYy oukuutN 0.0 0.0| 3,057.4 3,057.4 0.0 0.0
wyn pyntd
<pULuuuu UuhansuenN 0.0 0.0| 3,057.4 3,057.4 0.0 0.0

wjn pyntd

Unyntuwly 08-03-01



ey

19 20 21 22 23 24
utecuuutN 64 uureudnhnruuen 0.0 0.0| 3,057.4 3,057.4 0.0 0.0
wjn pynd
- Ywpswlwl uwppwynpniibtn 0.0 0.0 3,057.4 3,057.4 0.0 0.0

Unyntuwly 08-03-01
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opklph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 03

fudph 02 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

{wybywé N 5 - | Grwdujwy

Unjntuwy N 08-03-02

Unyntuwy 08-03-02

wyn pyntd puwn dpwgntinh
MGnwywh dwdnth A pwywbnipywb Ghunwlwl wauwigntph L Shuntuwghunwywb
hpwwnwnwyntd h § (tbwannipniGuGnh h g0tk
n n nunwpwynt hpwwnwnwynd pwwwnwyniibtn
QlnwukOp
nwuh wjn pYntd puwn wyjn pYntd pun wjn pYntd puwn wjn pYntd puwn
<nnywéh wajwbniip gniiwpp — Jwuwnwnnnltph — Ywuwnwnpnnbbph — Ywuwnwnnnltph — Ywuwnwnnnbbph
(hwqun =3 =3 = =3
npwdttpnd) [ 5 s g 3 g g 2 S o
c o c c o c c = 3 = c c C
S ss S Ss S | s3832| 2 Ss
3 5E g SE g SEEEZ 3 SE
3 22 3 32 E §E2E3 E 32
s <3 £ <3 £ | 523235 | £ 53
a N a & a ¥y °5°5 a Vg
[t = [ 3- [
1 3 5 6 7 9
LLAUUGLL DUUGN 175,656.9( 13,773.9 13,773.9| 25,078.5 25,078.5| 11,677.3 11,677.3| 7,726.6 7,726.6
wyn pyntd
QUuBUShY DUuUGN 175,656.9| 13,773.9 13,773.9| 25,078.5 25,078.5| 11,677.3 11,677.3| 7,726.6 7,726.6
wyn pyntd
ounusnt@3ntuvuNrh 64 UNNPULRLENH 87,425.6 0.0 0.0| 25,078.5 25,078.5 0.0 0.0 0.0 0.0
QENLPENNIYU
wjn pynd
Nuwydwbwagnuwiht wy Swewnupyntbbph dtrpptipnid 87,425.6 0.0 0.0 25,078.5 25,078.5 0.0 0.0 0.0 0.0
wyn pyntd
- SbnGYwwnywywb swewjnientbOtn 87,425.6 0.0 0.0] 25,078.5 25,078.5 0.0 0.0 0.0 0.0
untRUhLAhULEGN 60,231.3| 13,773.9 13,773.9 0.0 0.0| 11,677.3 11,677.3| 7,726.6 7,726.6
wyn pyntd
UnipuhnhwObn wewnwywb Yuqdwytnpwneegntabspho 33,597.8| 13,773.9 13,773.9 0.0 0.0] 11,677.3 11,677.3| 7,726.6 7,726.6
wyn pyntd
- Untpuhnhwotn ng $howbuwywb wbnwywh 33,597.8| 13,773.9 13,773.9 0.0 0.0| 11,677.3 11,677.3| 7,726.6 7,726.6
Ywqgiwytnwnigntbbtphb
Unipuhnhwltp ng wEunwywb YugdwyGpwnieniGbbph 26,633.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- UnipuhnhwObp ng wtwnwywl ng $hbwbuwywb 26,633.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtphb
anuuucunNLuen 25,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
LOpwghy npwiw0nphOtn wewnwywb hwnywdéh wy 25,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Jwywpnwybepho
wyn pynLd




Sly

Unyntuwy 08-03-02

1 8
- COpwghy npwdw0nphObp wewnwywb L hwdwbpwihb ng 25,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wrbnpwihb Yuwgiwyspwnipyntbbtnho
usL ouwugP 2,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
Ldhpwuwunynipintbbbp ng Yurwywnswywb (hwuwpwywywl) 2,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
JuquwytpwnipntGbephb
wyn pyntd
- LyhpwwunynipyntbOtip wy 2whnyp shGunwwlnnn 2,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

JuquwytpwnipntGbephb
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opklph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 03

fudph 02 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

Unyntuwy 08-03-02

wyn pUnLd puwn Spwgnkiph
Uowygnipntl
Lpunuwnuiyswywa, ownwnknynjw
Ny wewnwywl dwinth Uwiywywb, swbyuwwwwnwabywb nbntywunywywi L wewnnLpInLbbEpnLy
hpwuwnwpwynid pGnprENh L wiuwagntph hpwwnwpwyntd nwwgnwywb hwjwtgnt
SwrwjnLpnLGOtn wwpptpwywaGenh
hpwuwnwpwydiwp
wjn pYntd puwn wjn pYntd puwn wyn pYntd puwnn wjn pYnLd puwn
<nnywéh wajwbniip — Ywuwnwnnnbbph — Ywuwnwnnnbbph — Ywuwnwnnnlbph — Ywuwnwnnnbbph
& & £ = &
3 = 3 5 2 3 32 = 3 2
o . C o c o ®© c S c o S c
g ts g L S| gg|E.3| 2| B.f
S S < S @ = S = S =
Z 35 Z £ES 2 |y35| 285 = 255
3 S & 3 gEctc 3 3¢ gcc 3 gcc
g 92 : °23 S| 2|853| 2| $52
d v '3 d §// o 3 d é- 3 v 3 d N\ 3
S =] (= =] (=]
3
10 11 12 13 14 15 16 17 18
LLAUUGLL DUUGN 9,555.4 9,555.4 9,498.1 9,498.1( 52,493.1| 45432.2| 7,060.9| 2,500.0 2,500.0
wyn pyntd
QUuBUShY DUuUGN 9,5655.4 9,5655.4 9,498.1 9,498.1( 52,493.1| 45432.2| 7,060.9| 2,500.0 2,500.0
wyn pyntd
ounusnt@3ntuvuNrh 64 UNNPULRLENH 0.0 0.0 0.0 0.0| 52,493.1| 45,432.2| 7,060.9 0.0 0.0
QENLPENNIYU
wyn pyntd
Nuwydwbwagnuwiht wy Swewnupyntbbph dtrpptipnid 0.0 0.0 0.0 0.0| 52,493.1| 45,432.2| 7,060.9 0.0 0.0
wyn pyntd
- SbnGYwwnywywb swewjnientbOtn 0.0 0.0 0.0 0.0 52,493.1| 45,432.2| 7,060.9 0.0 0.0
untRUhLAhULEGN 9,555.4 9,555.4 9,498.1 9,498.1 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- Untpuhnhwbp ng $howbuwywb wEunwywb 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ywqgiwytnwnigntbbtphb
UntpuhnhwObn ng wewnwlwb YugdwytpwnipintGbtnhb 9,555.4 9,555.4 9,498.1 9,498.1 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- UnipuhnhwObp ng wtwnwywl ng $hbwbuwywb 9,555.4 9,555.4 9,498.1 9,498.1 0.0 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtphb
anuuucunNLuen 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
LOpwghy npwiw0nphOtn wewnwywb hwnywdéh wy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Jwywpnwybepho
wyn pynLd




Ly
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10 11 12 13 14 15 16 17 18
- COpwghy npwdw0nphObp wewnwywb L hwdwbpwihb ng 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wrbnpwihb Yuwgiwyspwnipyntbbtnho
usL ouwugP 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 2,500.0 2,500.0
wjn pyntd
Ldhpwuwunynipintbbbp ng Yurwywnswywb (hwuwpwywywl) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2,500.0 2,500.0
JuquwytpwnipntGbephb
wyn pyntd
- LyhpwwunynipyntbOtip wy 2whnyp shGunwwlnnn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2,500.0 2,500.0

JuquwytpwnipntGbephb
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«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £

opklph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 03

fudph 02 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

Unyntuwy 08-03-02

wyn pYnLd puwn dpwantinh
Uwubwynpbgynn
whinwywh gniyph Uowlgnipinth StinGywumjwlwa L
[Bwngiwbswywb ntuntgnnuiwb Yuwyptph
swrwjnLpnLGbtn Ubpuwptinj anuiuint Ll Uwyiwlb L uywuwpyiwb
wnbnGynieintGbtnh hpwuwnwpwydwbp o ok
hpwwwnWYnL wrwjnLynLbltn
wjn pYntd pun wyn pYntd puwn wjn pYntd pun wyn pYnLd pun
<nnywéh wajwbniip — Ywuwnwnnnltph — Ywuwnnnbtph — Ywuwnwnnnltph — Ywuwnwnnnbbph
c c c c
[ [ [ =
3 EE g 333 g 2 g 2
c § c c E:Véc c < c c - £
= cs 2 c23% 2 ST o gg
N =} = S =} =} =
3 35 3 3c3<¢ 3 S S 3 Ea=
g =3 | 5| 2825 | & 2 £ 92
c 25 a 328~ a ! a Y3
(=] v g2 =] S
3 V3o
19 20 21 22 23 24 25 26
LLAUUGLL DUUGN 25,500.0 25,500.0| 3,604.0 3,604.0( 8,000.0 8,000.0( 6,250.0 6,250.0
wyn pyntd
QUuBUShY DUuUGN 25,500.0 25,500.0| 3,604.0 3,604.0( 8,000.0 8,000.0( 6,250.0 6,250.0
wyn pyntd
ounusnt@3ntuvuNrh 64 UNNPULRLENH 0.0 0.0 3,604.0 3,604.0 0.0 6,250.0 6,250.0
QENLPENNIYU
wjn pynd
Nuwydwbwagnuwiht wy Swewnupyntbbph dtrpptipnid 0.0 0.0 3,604.0 3,604.0 0.0 6,250.0 6,250.0
wyn pyntd
- SbnGYwwnywywb swewjnientbOtn 0.0 0.0] 3,604.0 3,604.0 0.0 .0] 6,250.0 6,250.0
untRUhLAhULEGN 0.0 0.0 0.0 0.0| 8,000.0 8,000.0 0.0 0.0
wyn pyntd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 0.0 0.0 0.0 0.0 420.0 420.0 0.0 0.0
wyn pyntd
- Untpuhnhwbp ng $howbuwywb wEunwywb 0.0 0.0 0.0 0.0 420.0 420.0 0.0 0.0
Ywqgiwytnwnigntbbtphb
Unipuhnhwltp ng wEunwywb YugdwyGpwnieniGbbph 0.0 0.0 0.0 0.0 7,580.0 7,580.0 0.0 0.0
wjn pyntd
- UnipuhnhwObp ng wtwnwywl ng $hbwbuwywb 0.0 0.0 0.0 0.0 7,580.0 7,580.0 0.0 0.0
Ywagiwytnwnigntbbtphb
anuuucunNLuen 25,500.0 25,500.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
LOpwghy npwiw0nphOtn wewnwywb hwnywdéh wy 25,500.0 25,500.0 0.0 0.0 0.0 0.0 0.0
Jwywpnwybepho
wyn pynLd




6Ly

Unyntuwy 08-03-02

19 20 21 22 23 24 25 26
- LOpwghy npwiwbnphlbp wEwnwywb L hwdwbpuwihb ng 25,500.0 25,500.0 0.0 0.0 0.0 0.0 0.0 0.0
wrbnpwihb Yuwgiwyspwnipyntbbtnho
usL ouwugP 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
Ldhpwuwunynipintbbbp ng Yurwywnswywb (hwuwpwywywl) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
JuquwytpwnipntGbephb
wyn pyntd
- LyhpwwunynipyntbOtip wy 2whnyp shGunwwlnnn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

JuquwytpwnipntGbephb
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«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £

opklph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 03

fudph 03 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

wjn pYntd pun dpwgntinh

JuaquwytpwnipntGbephb

StnGhYwwnynipwb
dbrppLndwd,
wwhwwaiwb L
wnfuhywgdwh
SwrwjnLpNLGbEn
LOnwaka
rr':Luuh L wjn pYntd puwn
<Znnywéh woywonidp gniwnp =z YuwinwinnnGtiph
(hwqun &
npwaGtnny) 3 2
Lo g [
o =S
i 35
3 S&
5 v3
a v 3
=
1 2 3
LLNUUBLL DUUGP 13,797.0( 13,797.0 13,797.0
wjn pynd
LUuBUSHhY DUUGN 13,797.0( 13,797.0 13,797.0
wjn pyntd
untRURAhULEN 13,797.0( 13,797.0 13,797.0
wjn pynd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 13,797.0( 13,797.0 13,797.0
wjn pyntd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 13,797.0( 13,797.0 13,797.0

{wybywé N 5 - | Grwdujwy

Unjntuwy N 08-03-03

Unyntuwy 08-03-03
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«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £
opklph 7-pn. hnnywény pjnuobunwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 04
fudph 01 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

{wybywé N 5 - | Grwdujwy
Unjniuwy N 08-04-01

wjn pYnLd puwn dpwagntiph
Gphunwuwpnuyw
Spwantiph
Gnphunwuwnnwyw 2nowbwyotpnud
dnwantn pnwbhphlgh nta
wwjpwnh
DNk dhongwreniiltn
nwuh wjn pYntd puwn wyn pYntd pun
<nnywéh wajwbniip gniiwpp — Jwuwnwnnnltph — Ywunwnnnbtph
(hwquin =3 =
nnwotenny) | 5 ER ] 3 <
5 € & & -< &
o SEE¢ = SE€¢
] cclb o D cclb o
=1 €323 =] €323
3 33 3 = 3 335 3 c
g 5323 g 5323
a | v2°5 | @ | v5°3
5 = 5 =
1 3 4 5
LLAUUGLL DUUGN 80,324.9| 77,824.3 77,824.3| 2,500.6 2,500.6
wyn pyntd
QUuBUShY DUuUGN 80,324.9| 77,824.3 77,824.3| 2,500.6 2,500.6
wyn pyntd
untRURAhULEGN 80,324.9| 77,824.3 77,824.3| 2,500.6 2,500.6
wyn pyntd
Untpuhnhwlbp wtwnwywb YuwgdwybpwnipyntbOtph 80,324.9| 77,824.3 77,824.3| 2,500.6 2,500.6
wyn pyntd
- Untpuhnhwltn ng $hlwbuwywb wbnwywh 80,324.9| 77,824.3 77,824.3| 2,500.6 2,500.6
YuaquwytpwnipntGbepha

Unyntuwly 08-04-01
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«Lwjwunwbh <wipwwbunnipjub 2009 pwywih whnwywb pnioth dwuhb» £

opklph 7-pn. hnnywény pjnuobunwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 04

fudph 02 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

{wybywé N 5 - | Grwdujwy
Unjntuwy N 08-04-02

wyn pYnLd puwn dpwantinh

Uowygnipinth punwpwlwl
ynruwygnipntbbtpht, hwuwpwywywb
Jwagiwytnpwnientbbtnh,

YuaquwytpwnipntGbepha

wnhuhnieyntbbEphb
ClnwakOp wyn pYnLd puwn
nwuh - Ywunwpnntph
<nnwéh wodwhnidp gndwpp c
(hwauin g 3 =
wdbbpn = £% =3 (==
nn nny) 5 £8 £s 5&
g =y c= ER=
B 33 33 S c
=1 2 S =S 3 3
3 53| 33| 25
s °2 | 32| 2
d ¥ 3 >3 Y3
v
1 3 4 5
LLAUUGLL DUUGN 69,795.9| 69,795.9| 25,000.0( 10,000.0( 34,795.9
wyn pyntd
LUuBUSHhY DUUGN 69,795.9| 69,795.9| 25,000.0( 10,000.0( 34,795.9
wyn pyntd
usL ouwugr 69,795.9| 69,795.9| 25,000.0( 10,000.0( 34,795.9
wyn pyntd
Ldhpwunynipyintbbbp ng Yurwywnswywb (hwuwpwywywl) 69,795.9| 69,795.9( 25,000.0{ 10,000.0 34,795.9
JuaquwytpwnipntGbephb
wjn pyntd
- LyhpwunynipyntbOtip wy 2whnyp shGunwwlnnn 69,795.9| 69,795.9( 25,000.0| 10,000.0( 34,795.9

Unyniuwly 08-04-02
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opblph 7-pn. hnnywény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 06

fudph 01 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib pun
Swfuubph nbnbuwghnwywh nwuwlywnpgiwb hnnywsébtph

{wybywé N 5 - | Grwdujwy
Unjntuwy N 08-06-01

wyn pynLd puwn dpwgntiph
Qnpéwnhp haluwlnipjwa,
wbunwywb Yuwrwywndwb
hwlpwwbtwnwywi L
nwnpwdpwht Yurwy wpiwl
dwndhGaeph ywhwwOnid
(GwiuwpwpnipnLbbBph
COnwidklp wfuwwnwlwadtiph dwuny)
wu
<nnywéh waqwbnidp qr?uju.lr;n wyn pund putn
(hwquip = Ywuwnwnnnbtph
nnwidatnny) § s 3 -
s | €8 |25
S SE | 2c5¢E
3 22 | 53E2
g | v2|gidi
ad V'3 Vv = 3
[ ) J% [ )
1 2 3 4
pLAUUGLL DUuUGN 101,105.2 101,105.2| 66,296.7 34,808.5
wyn pyntd
LULBUSHhY DUUGN 101,105.2 101,105.2| 66,296.7 34,808.5
wyn pyntd
uchuusuueh yurusrni@3ntu 82,436.4| 82,436.4( 53,987.7 28,448.7
wyn pyntd
Mwdny JAwnpynn wziuwwnmwywnpébn b hwdGjudgwnbbn 72,290.1| 72,290.1( 47,4741 24,816.0
wjn pynd
- UpuwuwnnnlObph wuwwnwywndbn b hwybwyfwpbbn 46,095.6( 46,095.6| 29,987.3 16,108.3
- Pwnwpwghwywl, nwunwywb b yenwwl wy 26,194.5| 26,194.5| 17,486.8 8,707.7
Swrwjnnubph wwpglwwnpnid
Quwuwnwgh unghwjwywl wwwhnynipjwb yswnbbp 10,146.3| 10,146.3| 6,513.6 3,632.7
ounusnrk@3ntuutNrh 64 UNNPULLLENh 18,668.8( 18,668.8| 12,309.0 6,359.8
QBNLRENNIYU
wjn pyntd
Cwpnibwywywb dwfuubn 5,831.6 5,831.6( 3,2425 2,589.1
wyn pyntd
- toGpgbuinhy Swrwynigntbbbn 2,861.5 2,861.5 1,385.5 1,476.0
- Undntwy SwewynipnLGbtn 216.9 216.9 169.7 47.2
- Ywuwh Swrwjnieintbbbn 2,5141 25141 1,448.2 1,065.9
- @nuph L uwppwynpniibbph yuwpdwywinipntb 2391 2391 2391 0.0
Anpéninnuibbph L 2powgquinipintbbbph dwiuubp 3,371.1 3,371.1| 1,678.2 1,692.9

Unyntuwly 08-06-01
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1 2 3 4
Nuwydwbwagnuiht wy Swewnupyntb0bph dGrpptpnid 5,689.2 5,689.2( 5,147.2 542.0
wjn pynd
- Yuwnswywlb swrwjnipintbbbn 260.0 260.0 0.0 260.0
- <wiwywpgswihb SwewnipnLbG6p 1,189.6 1,189.6 931.6 258.0
- SbnGYwwnywywb swewjnipyntbOtn 105.6 105.6 81.6 24.0
- LUnhwntp pOniph wy SwrwjnipINLOGEN 4,134.0 4,134.0| 4,134.0 0.0
LOpwghy Gnpngned L wwhwwOnid (Swewjnipintaabn L 194.5 194.5 150.4 441
Qynupkin)
wjn pyntd
- Ubptbwatph L uwppwynnpniibbph ppwghy Gnpngned L 194.5 194.5 150.4 441
wwhww(nid
Ujneptin (UwpwGpbbn) 3,5682.4 3,5682.4( 2,090.7 1,491.7
wjn pyntd
- Qpwubluywihb Gneebp L hwagniuwn 2,500.9 2,500.9( 1,237.5 1,263.4
- Spwluwnpuwhb Onipbn 993.5 993.5 800.0 193.5
- UGagwnwihb L hwbOpwihb ubGnh OneRtN 88.0 88.0 53.2 34.8

Unyntuwly 08-06-01



